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PREVIEW QUESTION BANK(Dual)

Module Name : Sanskrit
Exam Date : 14-Jun-2023 Batch : 15:00-18:00

Sr. | Client Question

No D Question Body and Alternatives Marks Negativ

Marks
Objective Question

! 25001 The following table shows the Income (in T lakh) and percentage (%) profit of a company over the six years 20 0.00

from 2017 to 2022. Based on the data in the table, answer the questions that follow.

Year-wise Income and Profit of a Company

Year Income (in  lakh) Profit (%)
2017 120 7.5

2018 160 15

2019 130 22.5

2020 170 17.5

2021 190 20

2022 150 27.5

Approximately what was the average expenditure during the year from 2017 to 20227

. 110 lakh
. 2130 lakh
. 2120 lakh
. T 140 lakh

Frofias arféret o 2017 § 2022 a5 = ool & fedl So 31 arg (2 @ 9 i) wiiwE (%) oy S g=id 21 54
TIfeTsT & HTBST & TR W fau v usf & Sow i

b =

o

HOH BT gHAR AT AT T

g 31 (T O #) TH (%)
2017 120 7:5
2018 160 15
2019 130 225
2020 170 17.5
2021 190 20
2022 150 275

T 2017 ¥ 2022 9% F SRA T =g Ty fEaTm a2

.2 110 Tmrg
.2 130 TmE
.3 120 TrE
.2 140 g

[
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ALy
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A2
A3
A4

Objective Question

2 25002 The following table shows the Income (in T lakh) and percentage (%) profit of a company over the six years 20 0.00

from 2017 to 2022. Based on the data in the table, answer the questions that follow.

Year-wise Income and Profit of a Company

Year Income (in T lakh) Profit (%)
2017 120 75

2018 160 15

2019 130 22:5

2020 170 175

2021 190 20

2022 150 275

The positive increase in percent profit in comparison to the previous year was minimum i the year

. 2018
. 2020
. 2021
2022

[

J S

Frofifem arferet of 2017 ¥ 2022 9% = vl & fEdi So &1 g (2 o 9 ik wfwE (%) oy Sl el 21 gE
AT & HST & YR W 27 70 w4t % 3o e ;

SOl BT IUTR 31T AR Y

Cil 3 (T T A TH (%)
2017 120 75
2018 160 15
2019 130 2325
2020 170 17.5
2021 190 20
2022 150 275

gdadt o @ gaen & wioEa @Y § yAds oS e of § gmag O

. 2018
2020
2021
2022

AW

1

Al
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A2
A3
A4

Objective Question

3 25003 The following table shows the Income (in T lakh) and percentage (%) profit of a company over the six years 20 0.00

from 2017 to 2022. Based on the data in the table, answer the questions that follow.

Year-wise Income and Profit of a Company

Year Income (in  lakh) Profit (%)
2017 120 T8

2018 160 15

2019 130 225

2020 170 175

2021 190 20

2022 150 27:5

Approximately what was the expenditure in 20187

. 120 lakh
. 2160 lakh
. 140 lakh
. 2 180 lakh

Frofifem arferet of 2017 ¥ 2022 9% = vl & fEdi So &1 g (2 o 9 ik wfwE (%) oy Sl el 21 gE
AT & HST & YR W 27 70 w4t % 3o e ;

=

S T

Ho BT THaR ST SR T
f 3 (T T A Y (%)
2017 120 75
2018 160 15
2019 130 235
2020 170 175
2021 190 20
2022 150 275
Td 2018 H @ =g e un

1.7 12099

2.3 160 T

3.2 140 Tr"

4.7 180 T

Al
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A2
A3
A4

Objective Question

4 25004 The following table shows the Income (in T lakh) and percentage (%) profit of a company over the six years 20 0.00

from 2017 to 2022. Based on the data in the table, answer the questions that follow.

Year-wise Income and Profit of a Company

Year Income (in  lakh) Profit (%)
2017 120 T8

2018 160 15

2019 130 225

2020 170 1:7.5

2021 190 20

2022 150 27:5

If the percentage profit in 2021 was 25% mnstead of 20% than what would have been the expenditure in that
year?

. 2130 lakh
. T 148 lakh
. 2120 lakh
. T 152 lakh

FrofafEa ot af 2017 § 2022 9% @ ouf & gl S0 #1 o0 (2 @ ) iR wfiawe (%) @y 1 2= 2159
At & MRS & YR W 20 U v & S difee ;

B

FO FT gHAR T IR Y

E 31 (T @ B Y (%)
2017 120 75
2018 160 15
2019 130 225
2020 170 175
2021 190 20
2022 150 275

ofe ad 2021 & wfaEe 91 20% F1 S91E 25% B9 df 99 a9 &g e sian

.2 130 TrE
.3 148 g
.3 120 TrE
.2 1527w

b =

L
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A2
A3
A4

Objective Question

3 25005 The following table shows the Income (in % lakh) and percentage (%) profit of a company over the six years 20 0.00

from 2017 to 2022. Based on the data i the table, answer the questions that follow.

Year-wise Income and Profit of a Company

Year Income (in  lakh) Profit (%)
2017 120 7.5

2018 160 15

2019 130 22:5
2020 170 175

2021 190 20

2022 150 PAT

The median income of the company in the six years from 2017 to 2022 was

.2 155 lakh

. 2 150 lakh

. 7160 lakh

.2 153.33 lakh

Frofas aifers o 2017 ¥ 2022 9% = 96l | f&wl S0 31 a9 (2 7@ H) iR vfhwE (%) @y S 2=id 21 59
TSI & ES & AR 9 188 M0 welf & I gifvg ;

e

Hol B gHaR ST SR T

i 3 (T T M (%)
2017 120 75
2018 160 15
2019 130 22:5
2020 170 175
2021 190 20
2022 150 275

ad 2017 ¥ 2022 O 91d 991 # &9+ Al s feay 9

L2155 T
.2 150 e
.2 160 TrE
.2 15333 @

R
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ALy
1
)
2
Ay
3
Ay
4
Objective Question
6 25006 Match List I with List I 20 0.00
T e LIST II (Meaning)
Dimension)
A [Factual 1. [How to do something, methods of inquiry and criteria for using skills
B. |Conceptual II. |The basic elements students must know to be acquainted with a discipline
C. |Procedural III. [Knowledge of cognition and one's own cognition
7 s . [The inter-relationships among the basic elements within a larger structure to function
D. Metacognitive Iv. i

Choose the correct answer from the options given below:

1. A-IV. B-III. C-II. D-1
2. AL B-IV. C-1. D-IIT
3. AL B-I. C-IV. D-IT
4. A-I. B-IIIL. C-II. D-IV

T 1 1 Yl 11 9 e Sifeig
a1 T
i CREE Eﬁﬁmﬁ(a?ﬁ?ﬂ
@l B2 . IS8 H I Bl RIPl
A ) U o e i w A v
(&4l 1990 I URTEd 8iH & [6T gi-are] dw o

B. @uromEs | oS o

C. [HisharTd 111 [H31H 1 5 AR 30 ¥4 &1 991
; 5 W1 P A & [0 AUD @ld b HIeR g-arat
D. [sffErEse®S | IV i 3 1 siadey

frraferad famedl & 9 et SR o1 9g- Bife -

1. A-IV. B-III. C-II. D-I
2. AL B-IV. C-1. D-III
3. AL B-1. C-IV. D-IT
4. A-I. B-II. C-II. D-IV

Al

A2

A3

Ad

Objective Question
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7 25007 Arrange the stages of Piaget's theory of cognitive development in ascending order? 20 0.00

A. Concrete operational stage
B. Pre-operational stage

C. Sensorimotor stage

D. Formal operation stage

Choose the correct answer from the options given below:

1B 6 DA
2.C.B.AD
3.A.B,C,D
4.D,C,A,B
Tl &7 ST [G@ & saRis] @1 3Rie! $H § oJafeyd SHifwig:

A T U el

B. d- WG SaR

C. YaeIR® (AWRHER) 3gw
D. 3T=TR® W@ aRil

i feu T fasedl § 9 96l Gk &1 99 Sty :

1.B,C,; DA
2.C,B.AD
JJAB.C.D
4.D.C.A.B
A
1
A2
2
A3
3
Ay
4
Objective Question
8 25008 Which of the following are the requirements of good teaching? 2.0 0.00

A. Responsive human environment to foster exploration
B. Appropriate responsiveness to the child and the group
C. Knowledge of subject matter

D. Maintaining interpersonal relationship

E. Strict adherence to a rigid teaching plan.

Choose the correct answer from the options given below:

.A.C &E only
.A.B.C & D only
.B.D & E only
.C & E only

o =

L
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Io9 e o sraRgdant el § YA E 2

A HOYU &I UickTled PR Hied Widwidd! A4 ardaraRun
B. §10i% Ud §HE & Ui Sugad wid=iafear

c. fawgera ae &1 3H

D. Hddaraaes Hae g1 1G]

E. T3 fR1&01 A6 ST SR 3dcA

i U Y faedi © U Yad SUgad Sa) D1 I94 Bioig:

1. $AAA. CARE
2. PdAA.B.C3IRD
3. %dd B, D 3IRE
4.FadcC IARE

ALy

1
A2y
2
A3
3
Ay

4

Objective Question

9 25009 2.0 0.00

Given below are two statements:
Statement I: Mentimeter is a tool used for ereating interactive videos in education.
Statement II: Kahoot is a tool used for assessment in education,

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

e APy Ry E:

T 1 g 7 e difsal 9 & fog vge fean <= aren wied HemieR 3
S 11 e § gt 8 Ha 817 aTell H1eH PgEd ¢

SIRIT] Y & il 1, Hid 3T fadedl § J 96 IUga IoR b1 99 DITO:

L BYTIIR IS Ta§

PYUT1 SR 1 SHT ST &
3. BYTI I 3. AP HYT 11 3T &
4. DY T ¢, AP PYUT I I &

Vo

Al

A2
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A3
A4

Objective Question

10125010 Which assessment will be given to learners during the course of instructions rather than after it is completed? 20 0.00

1. Diagnostic assessment
2. Formative assessment

3. Summative assessment
4, Placement assessment

frafafad o 9§ SH-a1 geais- R @t safy & ved faar sem = & 3ud o g1 & uama?

1. Mg gegie
2. TS Ao
3, YPOHIAS A
4, O g

Al
A2
A3
A4

Objective Question

1251l Which among the following is NOT a characteristic of the closed ended questions in survey research? 20 0.00

. They allow unusual responses that the survey researcher may not have contemplated.
. They are easy for interviewers and/or respondents to complete.

3. They reduce the possibility of variability in the recording of answers.

4. There is loss of spontaneity in respondents answers.

Yo <y F Fufif@d § @ S srgad wil ot fadvar T g

b =

1. 9 ST UGRRI B SAfd 30 © [ Sdemn Qieadl - e 78 31 5
2. 9 HIgTpaiah SR / U1 JTRATISH & AT g1 3 H TRA T & |

3. I B RaTe H3= § uRafdar &1 Sua- & &3 Hdi g

4. JIEMI & I § WiHfdsd &1 &4 gl 71

Aly

1
A2y

2

A3
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A4

Objective Question

12 25012 2.0 0.00

The question of whether the results of a study can be generalized beyond the specific research context. relates
to

1. Measurement validity
2. Internal validity

3. External validity

4. Ecological validity

g5 Uy & 1 3o & ! ol [y iy geef § W amiigd faan off Sl 6, gafed g

L. H9 & qyar g

2. TR qUaT o

3. A adya g

4. uiRffaeig duar

Al
fxz
A3
A4

Objective Question

13 25013 2.0 0.00

Arrange the following steps pertaining to quantitative research in correct order:
A. Analyse data
B. Hypothesis
C. Process data
D. Findings
E. Research Design

Choose the correct answer from the options given below:

™o w

B e
Woma
Npen0g
B ow e
Omge
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TEES Y I Gafid FeiiRad oRull 1 Jo] HH I HaRyd Hig ;

i< 3T T fasedi T 9 9El 9Tk 31 99 Bl ;

0 W W
momn
P P
Omg e

el e
0poo

—

Al
fxz
A3
A4

Objective Question

14 25014 2.0 0.00

In which of the following sampling methods. the sample is also known as an accidental sample and a
haphazard sample?

1. Purposive sampling

2. Quota sampling

3. Stratified random sampling
4. Convenience sampling

FrafaRaa wfo=g= foftt & T fad vfaesl @ ve 9 iR srogafud wides wel ol &2

Al
A2
§A3
A4

Objective Question
15 25015 2.0 0.00
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The graphical representation of a frequency distribution is called

1. Bar chart
2. Line chart
3. Histogram
4, Pie chart

gt faaru & mftraig e &1 &l o1 &

1. R 9
2. 3 g Ere
3. 3mad o

4. 718 91¢

Al
1
A2y
2
Ay
3
Ay
4

Objective Question

16 25016 2.0 0.00

The term 'Correlation’ in mass conununication refers to the function of

1. Information gathering
2. Socialisation
3. Interpretation
4. Investigation

O AR | U YaY Yee BT Ay (9 B I 82

1. YT UDATRI0

2. JHATSIHI0

3. R

4, 30T
Al
A2
A3

A4

Objective Question
17 25017 2.0 0.00
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The coming together of computing. telecommunication and media in a digital environment is technically
lenown as

1. Integration

2. Amalgamation
. Merger

. Convergence

F&fored araeRu & uRSa (SWie), RIIR 3R ST & TP 91y 31 &1 a1 =4 J &1 Hgl
STl 82

Lo

1. Ui
2. gqHeH
3. fa@g

4, TR

Al
A2
A3
A4

Objective Question

18 25018 2.0 0.00

Which of the following are codes of reception in communication?
A. Bystander
B. Dominant
C. Negotiated
D. Oppositional
E. Channel

Choose the correct answer from the options given below:

1.A.B. Conly
2.B.C. D only
3.C.D. E only
4. A.D.E only

TaR 8 Fafafed 3 3 oH-3 ofinru & $6ds 8
A TP TP

B. U§d
c. gratag
D. faxist
E. T4

i feu U fadhedl I € Hel 3R &1 98- DIfoig : |

1. BAT A, B, C
2.%ad B, C.D
3.%addC,D.E
4. PATA.D.E
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Al
A2
A3
fM

Objective Question

19 |[25019 Which of the following are features of mass communication?

A. Structured institutional system

B. Complex process of reproduction

C. Commoditication of messages

D. Personalized way of communication
E. Space- time constraint

frafaRad 3§ 9 $H-d S9aR &1 fo<ivan g2
A. IRIYd FRIFTA YOIl
B.ﬁﬁﬁﬁﬁaﬁﬁlﬁﬂm
e, DT B
D. T9R &1 daaiigrd aeial

E. fe@-ora ared

i 13U T faepedl © © 9l STR P 99 BIoT ;

1.$dd A, B, C
2. %4d B, C,.D
3.%4d C, D, E
4.9ddB.D,E

Al
{xz
A3
A4

Objective Question
20 25020
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Given below are two statements:

Statement I: Because of technological strides in recent times. words and times as related to communication
have become money.

Statement II: The technological convergence has contributed to the control of mass communication by a few
corporates.

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement II are true
. Both Statement I and Statement II are false
3. Statement I is true but Statement II is false
4, Statement I is false but Statement II is true

19 @ o Ry T

T 1: U $o 99 1 g3 Weifie’ Wifd & SRY §9R 9 J6fid s iR 999 47 e 70T |
Y I1: WS SRR H 3 SRURE gRI GHHER & HUF01 T ar1ar fear g

SWRIGd HYA & el H, 6 QU L faded] H I W6l IR &1 99 DI

e =

i
PYTI IR 1A TS

2. BUAT AR 11T 3 T
3. PYT 1 T 8. AT BYT 1 3TT &
4. PYTI SET L, AP PUA N T ©

Al
A2
A3
A4

Objective Question

21 25021 2.0 0.00

The average of 5 consecutive odd numbers in descending order is 95. Find the fourth number in the
descending order.

.95
.97
.99
93

ofe ARSI HH DI 5 HANTG [T Ter3ii &1 39d 05 . dT 3aIe] B B 91t I= & I gt

O

bl o o
oot
WO -

Al

1
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A2

A3
A4

Objective Question

22 25022 2.0 0.00

If South-east becomes east and North west becomes West and all other directions are changed in the same
manner, then what will be the direction for north?

1. South-west
2. North-west
3. South-east
4, North-east

fe f&u1-gd = gd g1 STl & quT STR-uiym fE= gy 81 Sl § SR o= wi leum s uer 3
giafdd g1 oifd! §. df 3R & fog fgxn SH- gl

1. GI&UL- Uigy
2. 3TR- 9w
3. Glgful-
4. TR-

Al
A2
A3
A4

Objective Question

23 25023 In a certain coding language 'KANPUR! is coded as 'TBMQTS'. How BOMBAY" will be coded in that
language?

2.0 0.00

 ALPCZZ
.APLCZZ

3. APCLZZ

4. APLZCZ
gfe f HeuTe H KANPUR' $I TBMQTS' & &U ¥ $icd fodl 71 | 1l 34T I 'BOMBAY' &1 54
pied fegr S 2

o =

1. ALPCZZ
2. APLCZZ
3. APCLZZ
4. APLZCZ

ALy

1
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A2

A3
A4

Objective Question

24 25024 Find the number that can replace question mark (?) in the series given below: 20 0.00

5.9,3,11,1,13,-17

=13
-12
.10
15

a8 U1 1A BT il A1 &1 915 e ¥ uyaras = (2) &I o i -

5:9.2.11,1,13 -12

I =

a2

-13
-12
.10
15

b =

e

5\1
A2
A3
fx4

Objective Question

25 |[25025 An article is sold at a certain price by selling the article at 2/3 (two third) of that price. there is a loss of 10%. 20 0.00

Find the gain percent at its original price.

b =

3.
4. 30%

TS a3 &1 ol Hed TR 891 9l 5| 39 0% &1 99 Jed & 2/3 (31 fIg18) W a9 ¥ 10% @I gl gl o
dl 3H® T Jed U A1y HidSd Jid S|

35%
25%
.33%
.30%

Al
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A2
A3
A4

Objective Question

26 25026 If the statements "No saints are materialists” is given as false which of the following statements could be 20 0.00

immediately inferred to be true?

A. All saints are materialists.

B. Some saints are materialists.

C. Some saints are not materialists.
D. All materialists are saints.

Choose the correct answer from the options given below:

.A &D only
. B only

3.C &D only
4. A & B only

g " BIg Gd Hifdeard! el eid & DU S Tad A1 &, &l FefaRad 3 4 i oy ol S R )
el 5T T Tl 82

A W I ifdsard S 8l
B. $© Id Hifdearal sid gl
C. $ 4d Wfisard Td g gl
D. 3t fdwardt ¥a g gl

A feu e fashedl H ¥ gad SUgdd Gar DI 99 BIOIL: |

| SN

1. FITANRD
2. $ad B

3. 994 C IR D
4.%dd A IR B

Al

A2

A3

A4

Objective Question
27 25027 2.0 0.00
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Which of the following statements is logically equivalent to the statement- "No saints are materialists"?

. No materialists are saints.

. Some materialists are saints.

3. All non- materialists are non- saints.
4, Some non- materialists are non-saints.

frafifad § ¥ oH-91 $uH difbe ¥0 ¥ $ig Id Hifdsare! 78l §1d 8 $YH & J0ge 8

o =

1. 318 off Wifeard! S e g g1

2. T8 Hifdwardl G gId o

3. 9 TR-ifdeard] IR-Gd T8l sld 5|
4. P7 IRATHad] RIT ST

Al
A2
A3

A4

Objective Question

28 25028 2.0 0.00

Which of the following statements are so related that they can neither both be true nor can they be false
together?

A. No saints are materialists.

B. All saints are materialists.

C. Some saints are not materialists.
D. Some saints are materialists.

Choose the correct answer from the options given below:

A & C only
.B & D only
.A&D only
.C &D only

%ﬁ%ﬁqﬁmmw@\r@ﬁ@m%%awmﬂ?mﬁm 3R 7 U 1Y TTAd
A &8 W a Pfoward T g 81
B. 9 Id Hifgmard §d &1
C. $% Id Hifaward! T8 g €1
D. $& 4d Hifd@ward! sld g1
i f4u U fadedl & 9 9l 3 &1 944 iy -

[

[ VT

Al
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A2
A3
A4

Objective Question

2! 2502 " o : . . . .
? 5029 "The most effective way to increase government revenue would be to raise the corporate income tax, since

opinion polls show wide spread support for this approach”. Which of the following fallacies is committed in
the above statement?

. Appeal to emotion

. Slippery slope

. Appeal to inappropriate authority
. Appeal to Majority

RGN o H GfG B &1 Gaifia JHIE aXidl RURC ISR I §¢H1 ¢ did a1 uid 59

=PI & ufd e gudH <wid &
SHF HU H BT T 82

LR S

1. HRTIE (341l € SHIRF)

2. T aeTgad ga (RTORl i)
3. UG VISR H AR

4, SgHT HTB

Al

A2

A3

A4

Objective Question

30 25030 2.0 0.00

According to Nyaya (Classical Indian School of logic) the fallacy of irregular middle is called :

. Anaikantika

. Asiddha

. Satpratipaksa
. Badhita

T (MR e ThHd) F IR Siafid qe U dhary &1 ool Sl § -

b =

S Il

SIECaIE
3
TaIfaue
CHE|

pa e

E Y]
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Al

A2
A3
A4

Objective Question

31125031 Which of the following affects the downloading speed of a web page the least?

1. Number of hyperlink in the web page

2. Number and size of images in the web page

3. Processing power of the server computer that stores the web page

4. The bandwidth of Internet connection which is used to access the web page

fofafad ¥ 9 o fGdl 99 U9 3t s3aaife 1fd & 9ad $H JHIfad S 82

1. 99 091 & SIsmRidi®! ot e

2. 49 Yol H Bl @1 =1 Td SR

3. AR PR BT WA @) Ui ol 39 U 31 USRI Bl &

1. S IR ) 78 86 a8 7T FET S Usl i UgeR 3 e S

Al
A2
A3
A4

Objective Question
32 25032
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To calculate gross pay. hours are multiplied by the hourly rate. What MS.EXCELL formula would you put in
cell C4 and then you are able to copy that cell down to the rest of the column C?

A B C
1 |Hourly Rate (in Rs) 12.75
2
3 |Name Hours Gross pay
4 [Arjun 26
53 ||Rishi 37
6 |Ishan 36
T |Ajay 28
8 ||Arun 30
9 ||Nitin 30
1.=B1*$B%$4
2.=%B1*B4
3.=B1*B4
4. =$BS1*B4

Tp e B U] B oq Hel § 9eTaR & 3 10N 331 §iTal & | U9 UH USRI o1 SH-31 I3 I
(CELL) C4 § Wgad ® 1, 76 31U Blerd C & Y U & =i Yo (CELL) DI DUl - § H&H Bl UIen?

Objective Question
33 25033
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A B C
1 [feaR R EEH 12.75
=
3 [ e Tod e
A EcE 26
5 |RE 37
6 [Z=m 36
T (g 28
Rl 50
N EIGE 30

1.=B1*$B$4

2.=$B1*B4

3.=B1*B4

4.=$BS1*B4
ALy

1
A2,

2
A3

3
Ay

4
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Given below are two statements:

Statement I: Compared to word processors, simple text-editors such as Notepad and Emacs have limited
editing features.

Statement II: Files created with simple text editors cannot be opened with word processors.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I 1s true but Statement II is false.
4, Statement I is false but Statement II is true.

DY 1. TS UIERI &1 g 8, AIcUs Ud §HaY (Emax) & ol WIURU CaHe- TSIeH (U16- Juredh)

iftyd HureA faivars urfl e €

gu:r I1: RO 976 SUTee (Re cawe- T ied) ¥ Hiid S5l &1 75 URRR §R1 76! @il off Sl
I

TRIA DY & 3HTalid 4, =i 3T U fabedi T 9 a8 Iugdd IR &l 94 HITIT:

1. PYF1 3R 1 aH G g

2. WY1 3R 1 EH! SHA Bl

3. ®YT 1 9d B, Afp S 11 3RI B
4. DY IGH B, Ui YT 11 T 2

Al

A2

A3

Ad

Objective Question

34 25034 2.0 0.00

Given below are two statements:

Statement I (167);,=(10100111),
Statement II: (11010110) , =(214)4,

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
. Statement I is false but Statement II is true.

b2 =

L
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DYTL: (167),0=(10100111),

DY II: (11010110) , =(214);4

SWRIT YT & e H, 4 13U fadeul § 9 9a Iugad IoR o1 99 DIfGT:

1. HYF1 3R 13H I &l

2. PYFL 3R 1S FTT T

3. PYT 1 T B, A U 11 ITT B
4. FYF1 T 8. AP pUT I g =1

Al
A2
A3
A4

Objective Question

35 25035 2.0 0.00

Which of the following components are part of the central processing unit (CPU) of the Von Neumann model
for a computer system?

A. Arithmetic Logic Unit (ALU)

B. Hard Disk Drive (HDD)

C. Memory Address Register (MAR)
D. Solid State Drive (SSD)

E. Control Unit (CU)

Choose the correct answer from the options given below:

.A &E only
.B.C & D only
3.A&C only
4. A.C & E only

?ﬁ@ﬂﬁ‘—f-@rucm di GuE Alg (Wide0) & e ey i Yoo FHfi giHe (@ dig) & urr

A iAfes dfv® gfe @ Ta )
B. TS 8% g15d (T St 9

C. AR TgH ISR (T U 3R)
D. ¥ifers e gigd (TU TH St
E. deia gfie [ g)

i feu e fahedi © ¥ 9ad Sugdd IR BT 9 B |

bJ =

1. PaTAIRE
2. $ddAB, C ARD
3. HATAIRC
4. AT A, C IRE
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Al

A2
A3
A4

Objective Question

36 1125036 Given below are two statements: 2.0 0.00

Statement I: The concentration Chlorofluorocarbons (CFCs) in the atmosphere has increased in the past few
years.

Statement II:CFCs already present in the atmosphere will persist for many years.

In the light of the above statements. choose the correct answer from the options given below

. Both Statement I and Statement IT are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II is false.
4. Statement I is false but Statement IT 1s true.

<0 @ o Ry T

FYL T TS 99 § argHSd § FaRIGAR 516 - PI His0l 96 11 5|

@Y I1: AYHST 1 Ued Y [GgiH siRIF RIS 34l s auf d &+ 1|
SWRIT ®Y- & Al H, Hid 8T T fdedl § H Fa¥ SUgead SR B 99 DIT:

b =

S Il

1. PYA1 AR I A Tel B
2. YT 1 3R 1L g Tad & |
3. YT 1 el §. AT HUF 11 Tad ¢
4. DY 17T &, Afh- YT 11 T8l §

Al
fxz
A3
A4

Objective Question
37 25037 2.0 0.00
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Methane (CH,)

. 18 a green house gas

. 18 a polyeyclic Aromatic Hydrocarbon

. i3 a component in determining Air quality Index (AQI)
. helps in formation of Ozone

. 18 a Volatile Organic Compound (VOC)

Mmoo wp

Choose the correct answer from the options given below:

1.A.B & C only
2.A.D &E only
.A&E only

4.C.D & E only

T (CH.,)

A TFERI g

B. 9599 (U5 60®) JId BEgIPle- gl

C. IR UTadl YEH1® (AQI) HURd = arel vea §1
D. 3ioil fafor & ggas & |

E. 3Tt 1 4iffias (voco) g1

= feU T fashedi H U "ol SR 1 997 B :

L¥5)

1.Had A, B3R C
2. HdT A, DARE
3. PIT AR E

4. FHadc,DIARE

Al

A2

A3

A4

Objective Question

38 25038 2.0

Given below are two statements: one is labelled as Assertion A and other is labelled as Reason R

Assertion A: Children are much more vulnerable than adults to environmental toxins.

Reason R: For each kilogram of body weight, children drink more water, eat more food and breathe more air
than adults.

In the light of the above statements. Choose the correct answer from the options given below:

. Both A and R are true and R is the correct explanation of A

. Both A and R are true and R is NOT the correct explanation of A
A is true but R is false

. A s false but R is true

a2
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4 < PUA AU T B, U DU (Assertion A) & ¥9 T RifEd © O S8R IUD PRI (Reason R)& T
g

Y A: qaiaxofiy ofie-fay @ s= ool St qaT & oifte gaer gid 2 |

BRI R: TRINS ao & Uid (A & 39E I 98%] &1 a1 4 a=d 31U o Uld g, 1IeH od 8
qUT 343§ 4 F FUH AT

SWRIT By & Al B, - [3u 7Y fadeul 3 3 9a¥ Sugead SoR &1 99 DIy

1. A 3R R T © 3R R, A P T AR §

2. ARREA GO E SRR AT Gl O 71 §
3. AHEI ¢ AP R TR T8l ©

4 ATS R AT R WS B

Al
fxz
A3
A4

Objective Question

39 |125039 Which of the following are physieal parameters to decide the water quality?

A pH
B. Temperature
C. Total Surpended Solids (TSS)

D. Hardness
E. Conductivity

Choose the correct answer from the opticns given below:

b2 =

B. C.D only
B.D.E only
D.E only
.B.C.E only

S 1 T[UIadl FuRo & fog Fafifed 3 8 eH-eH 9 difde e 82

A pH

B. AM9HE

C.<Ilca gWss difersy (€ wa TH)
D. FoRdl

E. Iraddl

i fau U fasedl T § g1 3R &1 98 BIfo :

AL
=
i 355

Lo

1.$dd A, B.C.D
2. $adA.B.D.E
3.$adC.D.E
4. %qdB,C.E

file:///C:/Users/Administrator/Downloads/68_Live Sanskrit_B2_E/68_Live_Sanskrit_B2_E_1-150.html

2.0

0.00

27101



6/14/23, 6:54 PM 68_Live_Sanskrit_B2_E_1-150.html
Al

A2
A3
A4

Objective Question

40 25040 2.0 0.00

Which one of the following is not a National Action Plan on climate change?

1. National Solar Minion

2. National Mission on Indian Ocean
3. National Mission for Green India
4, National Water Mission

frafafd & .1 Soarg aikad= &R g S gie T8 82

1. ¥ IR o
2. fé~< MR R 519 e
3. 3R YRd & ferg Ay e
4. 91 o o

{\1
52
.A3
‘A4

Objective Question

41 25041 2.0 0.00

Which of the following commissions suggested the establishment of National Universities in India?

1. Kothari commission

2. Radhakrishnan commission
3. Knowledge commission

4. Planning commission

fFrafafed o 3 fow sma = yRa & gt fayfaemel @ e 537 1 ged faar

1. ISR AT
2. ATHUM G
3. 1 3T
4. TISHT AT
ALy
1
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A2,
2
A3
3
Ay
4
Objective Question
42 25042 From the fourth five year plan onwards. the focus on technical education was to 20 0.00
1. Improve its quality and standard
2. Encourage its unrestricted expansion in public sector
3. Weed out non-performing institutions
4., Restrict the entry of private players into the field
<1t deraly dIe & &S ¥ T 16T TR &1 & B1 PRI :
1. 9@ UG SR TR H GUR BT
[ ol . = ~ F
2. graoli- &7 H P 3 TaAd [aeR 31 UlcHIed h-T|
3. IR- FOEASRI SR 1 Sel Bl
4. &7 7 F3oi Gyl & Ja R Hga0 |
Al
1
A2
2
A3
3
Ay
4
Objective Question
43 25043 2.0 0.00

Some of the major recommendations of the Kothari commission on Higher education are:

A. Avoid introducing new courses

B. Select teachers at the national level

C. Restrict the expansion of higher education
D. Provide autonomy to the universities

E. Abolish the continuous evaluation system

Choose the comrect answer from the options given below:

1. A.B. C only
2.B.D. E only
3.B.C. D only
4. A.D.E only
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Objective Question

68_Live_Sanskrit B2_E_1-150.html

TR Y& R BIBR! ST 31 $© T&7 BRI § -

A, 72 UIEIHH YR 63 Y g7

B. fRiefel o1 = P TR WAl

C. IR & & fa8dR W giaee T |
D. fayfaenedi o1 Wradd WaH o1

E. Hdd Yedic+1 JUIel &1 JHIw SR

i< ST T fasedl § 9 el GTR BT 90 Bifeiy :

1. Had A, B, C
2.%ddB.D.E
3.%ddB.C.D
4. HIATA,D.E

Al
1
A2,
2
Mg
3
Aty

4

Match List I with List IT

LIST I (Ancient field of study)] LIST IT (Meaning)
A |Siksha L |Metre
B. [Nirukta I1. [Phonetics
C. [Kalpa I1I. |[Etymology
D. |Chhandas IV. [Religious Practices

Choose the correct answer from the options given below:

AL B-IL. C-IV. D-I
. A-L. B-II. C-VI. D-III
AT B-III. C-IV. D-I
A-IV. B-II. C-II. D-I

il 131 il 11 9 e iferg

I 1
(amuﬂg:;rﬁmﬁﬂaa) qﬂf}
A [Frem L [Arex
B. [Fead 11. |saffase
C. [ 111 [
D. [@g V. [enfde wen

fafeiad famedl O I 981 STk &1 98- Hifell ;

B

1. A-IIL B-II. C-IV. D-1
2. A-I. B-II. C-VI. D-III
3. AL B-IIIL. C-IV. D-I
4. A-IV. B-II. C-II. D-I
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A2
A3
A4

Objective Question

45 25045 2.0 0.00

Which of the following universities were established in the year 19167

A. Delhi University

B. Banaras University

C. Mysore University

D. S.N. D. T women University

Choose the correct answer from the options given below:

.A.B & C only
.A &D only
3.A&Conly
4.B.C & D only

fFrafafad 4 9 oH-3 fayfdenel & @ ay 1916 9 g3 42
A. Toedl foyfaemea
B. §1RY fayfd=e™
c. IR fayfaarey
D. TH.U4 3171, gigan fayideey

e fqu 7T fad eyl § 9 9e! 3R &1 994 Bifol :

o =

1. $aAA. B IR C
2. $ad A IRD
3. HATAIRC
4.%9dB. C IRD

Al
fxz
A3
A4

Objective Question
46 25046 2.0 0.00
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Man is the only animal that laughs and weeps. for he is the only animal that is struck with the difference
between what things are and what they ought to be. We weep at what exceeds our expectations in serious
matters; we laugh at what disappoints our expectations in trifles. We shed tears from sympathy with real and
necessary distress: as we burst into laughter from want of sympathy with that which is unreasonable and
unnecessary. Tears are the natural and involuntary response of the mind overcome by some sudden and
violent emotions. Laughter is the same sort of convulsive and involuntary movement, occasioned by mere
surprise or contrast.

The serious is the stress which the mind lays upon the expectations of a given order of events and the weight
attached to them. When this stress is increased beyond its usual intensity and strains the feelings by the
violent opposition of good and bad. it becomes the tragic. The ludicrous is the unexpected relaxing of this
stress below its usual intensity. by an abrupt transposition of ideas that takes the mind by surprise and
startles it into lively sense of pleasure.

According to the passage which of the following is not true is case of tears and laughter?

. They are both involuntary reaction

. They are both the result of violent emotions

. They are both natural emotions.

. They are both reaction to expperences of the world

2 fau o i @ ufeu SR few o i & o difvm

AT UF A9 T 2 o 5801 AR U1 &, T THAH GH1 oTa & S Higel et o aifed W@ed & o9 e $T g6l ol
oA TIRTT A # Ao it & AfaEan 9 T I § 5F 2 O a5t W et anstanal F e 9 R g9 2isH
a1 HavES YT & id Fergufd ¥ oY 95T & vEle 39 ol W Sy ® 9% § eAN 54 Be 9sd & °i fh
T TUT HTEE ¢ HY FO qorTa / HEHS Hae SaaIE & A9 9% 511 5 9 @HifeE SR @ T Agina ¢
w4t 1t Faw a1 o1 fwmar g 9T % UeR B TS R W S50 aasiadl o) 49 T 1R v R 39
TG TUIT BT 7T T e 6T 9501 ¢ | 99 95 o419 A9 A Goal € 0 S ol § AR w5 o g1 S RIS B
R X ofldl & o 98 ! 9 oidl 81 [l & sits SUFtT R SHdih S04 SE o91g $1 bl # SH e
TRUTYE & 1 79 % Y snydeds & Sk 38 e #1 uioa sgyfd & &0 8 Sie oal ol

B

T % AR it § S SIH-a s SR 6 5 e § 98 TEi e 2

1. 3 g @ wpd wfafean 2
2. 9 ST Ja Fdaret & e B
3. 3 21 wvIfdeE Tde 2

3 2T e gyl 1 uiatsan g1
Al
A2
A3

A4

Objective Question
47 25047 2.0 0.00
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Man is the only animal that laughs and weeps. for he is the only animal that is struck with the difference
between what things are and what they ought to be. We weep at what exceeds our expectations in serious
matters; we laugh at what disappoints our expectations in trifles. We shed tears from sympathy with real and
necessary distress: as we burst into laughter from want of sympathy with that which is unreasonable and
unnecessary. Tears are the natural and involuntary response of the mind overcome by some sudden and
violent emotions. Laughter is the same sort of convulsive and involuntary movement, occasioned by mere
surprise or contrast.

The serious is the stress which the mind lays upon the expectations of a given order of events and the weight
attached to them. When this stress is increased beyond its usual intensity and strains the feelings by the
violent opposition of good and bad. it becomes the tragic. The ludicrous is the unexpected relaxing of this
stress below its usual intensity. by an abrupt transposition of ideas that takes the mind by surprise and
startles it into lively sense of pleasure.

The author implies that animals lack the ability to

1. Percetve emotional changes in humans
2. laugh or weep

3. evoke sorrow or laughter in humans
4. respond strongly to external stimuli

2 fau o i @ ufeu SR few o i & o difvm

AT UF A9 T 2 o 5801 AR U1 &, T THAH GH1 oTa & S Higel et o aifed W@ed & o9 e $T g6l ol
oA TIRTT A # Ao it & AfaEan 9 T I § 5F 2 O a5t W et anstanal F e 9 R g9 2isH
a1 HavES YT & id Fergufd ¥ oY 95T & vEle 39 ol W Sy ® 9% § eAN 54 Be 9sd & °i fh
T TUT HTEE ¢ HY FO qorTa / HEHS Hae SaaIE & A9 9% 511 5 9 @HifeE SR @ T Agina ¢
w4t 1t Faw a1 o1 fwmar g 9T % UeR B TS R W S50 aasiadl o) 49 T 1R v R 39
TG TUIT BT 7T T e 6T 9501 ¢ | 99 95 o419 A9 A Goal € 0 S ol § AR w5 o g1 S RIS B
R X ofldl & o 98 ! 9 oidl 81 [l & sits SUFtT R SHdih S04 SE o91g $1 bl # SH e
TRUTYE & 1 79 % Y snydeds & Sk 38 e #1 uioa sgyfd & &0 8 Sie oal ol

wEE BT T § ol § FeiEy ama s s e

1. A9 ¥ GagTde uiad-! &1 A5y & &1
2. 59 a1 I #

3. AT § g O1 591 I9d B B

4, dTgl IOREdl & Uid Uea SiHal He @

Al

A2

A3

A4

Objective Question
48 25048 2.0 0.00
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Man is the only animal that laughs and weeps. for he is the only animal that is struck with the difference
between what things are and what they ought to be. We weep at what exceeds our expectations in serious
matters; we laugh at what disappoints our expectations in trifles. We shed tears from sympathy with real and
necessary distress: as we burst into laughter from want of sympathy with that which is unreasonable and
unnecessary. Tears are the natural and involuntary response of the mind overcome by some sudden and
violent emotions. Laughter is the same sort of convulsive and involuntary movement, occasioned by mere
surprise or contrast.

The serious is the stress which the mind lays upon the expectations of a given order of events and the weight
attached to them. When this stress is increased beyond its usual intensity and strains the feelings by the
violent opposition of good and bad. it becomes the tragic. The ludicrous is the unexpected relaxing of this
stress below its usual intensity. by an abrupt transposition of ideas that takes the mind by surprise and
startles it into lively sense of pleasure.

It can be inferred from the passage that the ludicrous is most nearly opposite to the

1. Serious

2. Surprise

3. Pleasure

4. Unexpected

2 fau o i @ ufeu SR few o i & o difvm

AT UF A9 T 2 o 5801 AR U1 &, T THAH GH1 oTa & S Higel et o aifed W@ed & o9 e $T g6l ol
oA TIRTT A # Ao it & AfaEan 9 T I § 5F 2 O a5t W et anstanal F e 9 R g9 2isH
a1 HavES YT & id Fergufd ¥ oY 95T & vEle 39 ol W Sy ® 9% § eAN 54 Be 9sd & °i fh
T TUT HTEE ¢ HY FO qorTa / HEHS Hae SaaIE & A9 9% 511 5 9 @HifeE SR @ T Agina ¢
w4t 1t Faw a1 o1 fwmar g 9T % UeR B TS R W S50 aasiadl o) 49 T 1R v R 39
TG TUIT BT 7T T e 6T 9501 ¢ | 99 95 o419 A9 A Goal € 0 S ol § AR w5 o g1 S RIS B
R X ofldl & o 98 ! 9 oidl 81 [l & sits SUFtT R SHdih S04 SE o91g $1 bl # SH e
TRUTYE & 1 79 % Y snydeds & Sk 38 e #1 uioa sgyfd & &0 8 Sie oal ol

T § o5 o e o gear & F s 9eifts v § it g 5 A e

Al
A2
A3
{%4

Objective Question
49 25049 2.0 0.00
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Man is the only animal that laughs and weeps. for he is the only animal that is struck with the difference
between what things are and what they ought to be. We weep at what exceeds our expectations in serious
matters; we laugh at what disappoints our expectations in trifles. We shed tears from sympathy with real and
necessary distress: as we burst into laughter from want of sympathy with that which is unreasonable and
unnecessary. Tears are the natural and involuntary response of the mind overcome by some sudden and
violent emotions. Laughter is the same sort of convulsive and involuntary movement, occasioned by mere
surprise or contrast.

The serious is the stress which the mind lays upon the expectations of a given order of events and the weight
attached to them. When this stress is increased beyond its usual intensity and strains the feelings by the
violent opposition of good and bad. it becomes the tragic. The ludicrous is the unexpected relaxing of this
stress below its usual intensity. by an abrupt transposition of ideas that takes the mind by surprise and
startles it into lively sense of pleasure.

The author develops the passage primarly by

. Disproving a theory

. Citing authorities

. Presenting counter example
. Defining terms

2 fau o i @ ufeu SR few o i & o difvm

AT UF A9 T 2 o 5801 AR U1 &, T THAH GH1 oTa & S Higel et o aifed W@ed & o9 e $T g6l ol
oA TIRTT A # Ao it & AfaEan 9 T I § 5F 2 O a5t W et anstanal F e 9 R g9 2isH
a1 HavES YT & id Fergufd ¥ oY 95T & vEle 39 ol W Sy ® 9% § eAN 54 Be 9sd & °i fh
T TUT HTEE ¢ HY FO qorTa / HEHS Hae SaaIE & A9 9% 511 5 9 @HifeE SR @ T Agina ¢
w4t 1t Faw a1 o1 fwmar g 9T % UeR B TS R W S50 aasiadl o) 49 T 1R v R 39
TG TUIT BT 7T T e 6T 9501 ¢ | 99 95 o419 A9 A Goal € 0 S ol § AR w5 o g1 S RIS B
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Man is the only animal that laughs and weeps. for he is the only animal that is struck with the difference
between what things are and what they ought to be. We weep at what exceeds our expectations in serious
matters; we laugh at what disappoints our expectations in trifles. We shed tears from sympathy with real and
necessary distress: as we burst into laughter from want of sympathy with that which is unreasonable and
unnecessary. Tears are the natural and involuntary response of the mind overcome by some sudden and
violent emotions. Laughter is the same sort of convulsive and involuntary movement, occasioned by mere
surprise or contrast.

The serious is the stress which the mind lays upon the expectations of a given order of events and the weight
attached to them. When this stress is increased beyond its usual intensity and strains the feelings by the
violent opposition of good and bad. it becomes the tragic. The ludicrous is the unexpected relaxing of this
stress below its usual intensity. by an abrupt transposition of ideas that takes the mind by surprise and
startles it into lively sense of pleasure.

We shed tears when

A. Something is tragic

B. Something is ludicrous

C. Something is surprising

D. Seriousness exceeds our expectations

Choose the correct answer from the options given below:

.C & D only
. A & B only
.A & D only
.A.B & D only

e fau 7w e @ uiew SR fau e vl & o i
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1. AIgdE:

2. TRYBI:

3. garday:

4. GeTHTIE:

SHE fARIEaUT 9 fHafE 2

1. AIgde:

2. TRUBI:

3. Terdaty:

4, gerdfumT:
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